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rt 1 Listening Comprehension

C) To find his lost shoes on the tennis court.

. A} They produce part of their own food,

B) They sell their own produce.

. A) Mr. White’ s reason for leaving.

B) Mr. White’s new appointment.

. A) To serve as her tour guide.

B) To serve as her bodyguard.

. A) He is often asked to go and see exhibits.

B) He would like to go and see the exhibits.

. A) The environmental problem.

B ) The health problem.

. A) Bob will see Susan tomorrow evening.

(20 minutes)
Section A

. A) To change the tennis shoes in the sportswear department.
B) To help his friend find the right department.

D) To buy himself a pair of tennis shoes.
C) They feed their family on cheap food.
D) They buy food from farmers.

C) A vacant position.

D) Talk to Nancy a letter.

C) To serve as her driver.

D) To serve as her porter.

C) He went to see the exhibit last year.
) He definitely does not want to go.

C) The educational problem.

D) The international problem.

C) Bob and Susan have decided to go on a holiday.

B) Bob might be at home late tomorrow evening. D) Bob asked the woman come another time.

. A) They think cinemas are too far away from their homes.

B) They are disappointed with the films produced these days.
C) They both dislike films about adventure stories.
D) They both like the idea of going to the cinema at night.

10,
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A) B)
300 . 300
250 250
200 200
150 150
July Aug Sept. July Aug Sept.
ssage One

Questions 11 to 14 are based on the passage you have just heard.

11).A) Because he was a cook at a country-music club.
B) Because he performed for guests while he worked as a cook.

12

C) Because he often sang while cooking.

13) Because he liked singing better than cooking.

A) His brother. B) His manager.

13. A) At a club. B) On a farm.
14. A) His ability to live independently.

C) His courage in the face of rejections.

Passage Two

o D)
300 . 300
250 250
200 200
150 L 150
July Aug Sept. July Aug Sept.
Section B
C) His father. D) A business woman,
C) At a construction site, D) In a record company.

B) His sense of responsibility in whatever he did.
D) His hard work in his early days.
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Question 15 to 17 are based on the passage you have just heard.

15. A) How to handle spiders. C) People’ s fear of spiders.
B) Spiders in the United States. D) A special kind of spider.

16. A) Most spiders will not bite even when handled. B) Most spiders are poisonous and dangerous.
C) Most spiders are likely to attack people. D) Most spiders have sharp eyes.

17. A) Because she cannot find a husband for herself.
B) Because the female spider is larger than the male one.
C) Because the female spider often eats her husband.

D) Because she is a black female spider.

Passage Three
Question 18 to 20 are based on the passage you have just heard.

18. A) Instructions B) Medicine C) Money D) The draft of his speech
19. A) Because she had to type Mr. Bascomb’ s speech. B) Because she had a headache.
C) Because she had to meet some businessmen: D) Because she had to get her car fixed.
20. A) The problems of the city. . B) Himself and his problems.
C) Things he had planned to say to his audience. D) The plan for his future work as a mayor.
Part II Reading Comprehension (35 minutes)

Passage One
Questions 21 to 25 are based on the following passage:

Three English dictionaries published recently all lay claim to possessing a “new” feature. The BBC English
Dictionary contains background information on 1,000 people and places prominent in the news since 1988; the
Oxford Advanced Learner’s Dictionary: Encyclopedic (BEI&4H8) Edition is the OALD plus encyclopedlc en-
tries; the Longman Dictionary of English Language and Culture is the LDOCE plus cultural information.

The key fact is that all three dictionaries can be seen to have a distinctly “culitural” as well as language learning
content. That being said, the way in which they approach the cMslemem is not'identica], making direct
comparisons between the three difficult.

While there is some common ground between the encyclopedic/cultural entries for the Oxford and Longman
dictionaries, there is a clear difference. Oxford lays claim to being encyclopedic on content whereas Longman
distinctly concentrates the language and culture of the English-speaking world. The Oxford dictionary can
therefore stand more(vigorous yerutiny (B #L) for cultural bias than the Longman publication becw
not(hesitat®yabout viewing the rest of the wor@\ﬁom the cultural perspectives of the _English-speaking world. The

N e b,

cultural objectives of the BBC dictionary are in turn more distinct still. Based on an analysis of over 70 million words
recorded from the BBC World Service and National Public Radio of Washington over a period of four years, their
1,000 brief encyclopedic entries are based on people and places that have featured (5 BEHI{T) in the news
recently. The intended user therar listener to the World Service who will have a reasonable
standard of English-and a developed skill in llstemng comprehensmn

N -In reality, though, the BBC dictionary will be purchased by a far wider range of language, as will the other two
dictionaries. We will be faced with a situation where many of the users of these dictionaries will at the very least have
distinct socio-cultural perspectives and may have world views which are totally oppesed and even hostile to those of
the West. Advanced learners form this kind of background will not only evaluate a dictionary on how user-friendly it
is but will also have definite views abomd appropriateness of the various socio-cultural entries.

b 21. What feature sets apart the three dictionaries discussed in the passage from traditional ones?
A) The combination of two dictionaries into one. B) The new approach to defining words.

Whe inclusion of cultural content. D) The increase in the number of entries. ‘
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22. The Longman dictionary is more likely to be criticized for cultural }Lcjudice because ____
) )\))its scope of cultural entries goes beyond the culture of the English-speaking world
“BA.it pays little attention to the cultural content of the non-English-speaking countrlcs
b).lt views the world purely from the standpoint of the English-speaking people
I))\n fails to distinguish language from culture in its encyclopedic entries
23. The BBC dictionary differs from Oxford and Longman in that _______
A) it has a wider selection of encyclopedic entries
B) it is mainly designed to meet the needs of radio listeners
C) it lays more emphasis on language than on culture
D) it is intended to help listeners develop their listening comprehension skills
24. 1t is implied in the last paragraph that, in approaching socio-cultural content in a dictionary, special thought
should be givento ___ .
A) the language levels of its users B) the number of its prospective purchasers
C) the different tastes of its users \3) the various cultural backgrounds of its users
25. What is the passage mainly about?
Mﬁ)ifferent ways of treating socio-cultural elements in the three new English dictionaries.
B\)\A comparison of people’s opinions on the cultural content in the three new English dictionaries.
C) The advantages of the BBC dictionary over Oxford and Longman.
‘RZ The user-friendliness of the three new English dictionaries.

Passage Two
Questions 26 to 30 are based on the following passage:

Real policemen hardly recognize any resemblance between their lives and what they see on TV.

The first difference is that a policeman’s real life revolves round criminal law, He has to know exactly what
actions are crimes and what evidence can be used to prove them in court. He has to know nearly as much law as a
professional lawyer, and what is more, he has to apply it on his feet, in the dark and rain, running down a street after
someone he wants to talk to.

Little of his time is spent in chatting. He will spend most of his working life typing millions of words on
thousands of forms about hundreds of sad, unimportant people who are guilty of stupid, petty crimes.

Most television crime drama is about finding the criminal: as soon as he’ s arrested, the story is over. In real life,
finding criminals is seldom much of a problem. Except in very serious cases like murders and terrorist attacks little
effort is spent on searching.

Having made an arrest, a detective really starts to work. He has to prove his case in court and to do that he often
has to gather a lot of different evidence.

A thichn the drama detective and the real one is the unpleasant pressure: first, as members
of a police force they always ha:e_ to bemmolutely in accordance with the law. Secondly, as expensive public
servants they have to g' et results. They can hardly ever do both. Most of the time some of them have to break the rules
in small ways.

If the detective has to deceive the world, the world often deceives him. Hardly anyone he meets tells him the truth.
And this separation the detective feels between himself and the rest of the world is deepened by the simple-
nnnd\edin/e§s\is, he’ _seeﬂs_i—gf citizens, social workers, doctors, law-makers, and judges, who, instead of eliminating crime
punish the criminals less severely in the hope that this will make them reform. The result, detectives feel, is that nine-

tenths of their work is re-catching people who should have stayed behind bars. This makes them rather cynical ({

WA

\lb\ 26. A policeman has to be trained in criminal law because

A) he must work hard to help reform criminals B) he must behave as professional lawyers do
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®Yhe must be able to tell when and where a crime is committed
\-j D) he must justify the arrests he makes of criminals
* 27. What is the most suitable word that describes the work of a policeman according to,the passage?
% “ARDangerous, B)Demanding C) Distressing D) Dramatic.
28. According to the passage}?licemen spend most of their time and efforts ______.
l/ A) patrolling the street, rain or shine \(ycollecting and providing evidence
B) tracking and arresting criminals D) consulting the rules of law
29. What’ s the policeman’s biggest headache?
‘%‘ A) He has to get the most desirable results without breaking the law in any way.
\) \B) He has to justify his arrests while unable to provide sufficient cvidence in most cases.
TrHe can hardly find enough time to learn criminal law while burdened with numerous criminal cases.
\I})\Hc has to provide the best possible public service at the least possible expense.
30. Why do policemen feel separated from the rest of the world?
\QpBecause they do not receive due support from society.
“B) Because they find people insincere to them.
% \&)\Bccause they feel superior to the simple-minded people around them.
ﬁ Because they are suspicious of the people around them.

Passage Three
Questions 31 to 35 are based on the following passage:
To live in the United States today is to gain an appreciation for Dahrendorf” s assertion that social change exists
everywhere. Technology, the applicatiWEgﬁg fgL p’;gf‘t_ifal ends, is a major source of social change.
Yet we would do well to remind ourselves that technology is a human creation; it does not exist naturally. A
\_V spear or a robot is as much a cultural as a physical object. Until humans use a spear to hunt game or a robot to produce
machine pérts, neither is much more than a solid mass of matter. For a bird looking for an object on which to rest, a
spear of robot serves the purpose equally wmof the Challenger space shuttle (PhiRE SRR KH)
and the Russian nuclear accident at Chernobyl drive home the human quality of technology; they provide cases in
Q which well-planned systems suddenly went haywire (ZF78IE%L) and there was no readﬁgto set them right. Since
technology is a human creation, we are responsible for what is done with it. Pessimists worry that we will use our
technology eventually to blow our world and ourselves to pieces. But they have been sayfng this for decades, and so
far we have managed to survive and even flourish. Whether we will continue to do so in the years ahead remains

uncertain. Clearly, the impact of technology on our lives deserves a closer examination.

Few technological developments have had a greater impact on our lives than the computer revolution. Scien-
tists and engineers have designed specialized machines that can do the tasks that once only people could do. there are
those who assert that the switch to an information-based economy is in the same camp as other great historical
milestones, particularly the Industrial Revolution. Yet when we ask why the Industrial Revolution was a revolution, we
find that it was not the machines. The primary reason why it was a revolutionary is that it led to great social change.
It gave rise to mass production and, through mass production, to a society in which wealth vm.

In somewhat similar fashion, computers promise to revolutionize the structure of American life, particularly as
they frec the human mind and open new possibilities in knowledge and communication. The Industrial Revolution
supplemented and replaced the muscles of humans and animals by mechanical methods. The computer extends this
development to supplement and replace some aspects of the mind of human beings by electronic methods. It is the
capacity of the computer for solving problems—mmaking decisions that represents its greatest potential and that

\u Pposes the greatest difficulties in predicting the impact on society. ’
31. A spear or a robot has the quality of technology only when it ____
CE\ A) is used both as a cultural and a physical object @servcs different purposes equally well ‘

el
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C) is utilized by man D) can be of use to both man and animal

32. The examples of the Challenger and Chernobyl cited by the author serve to show that _____.
A) if not given close examination, technology could be used to destroy our world
technology is a human creation, so we are responsible for it
C) technology usually goes wrong, if not controlled by man
D) being a human creation, technology is liable to error
33. According to the author, the introduction of the computer is a revolution mainly because .
A) the computer has revolutionized the workings of the human mind
B) the computer can do the tasks that could only be done by people before
mit has helped to switch to an information technology

\Dé it has a great potential impact on society
34 By using the phrase “the human quality of technology” (Para.2, Line 6), the author refers to the fact that

technology _____.
A) has a great impact on human life ' \B) has some characteristics of human nature
C) can replace some aspects of the human mind D) does not exists in the natural world

Q 35. The passage is based on the author’s __

N

¢

10.

A) keen insight into the nature of technology »

B}\prejudxccd criticism of the role of the Industrial Revolution

) cautious analysis of the replacement of the human mind by computers
\&chaggcrated description of the negative consequences of technology

Passage Four
Questions 36 to 40 are based on the following passage:

Now custom has not been commonly regarded as a subject of any great importance. The Wf our
oerams we feel to be uniquely worthy of investigation, but custom, we have a way of thinking, is behavior at its
most commonplace. As a matter of fact, it is the other way around. Traditional custom, taken the world over, is a
mass of detailed behavior more astonishing than what any one person can ever evolve in individual actions. Yet that
is a rather trivial aspect of the matte. The fact of first-rate importance is the predominant role that custom plays in
experience and in belicf and the very great varieties it may manifest. -

Nd man ever looks at the world with pristine (KZSNREZMEY ) eyes. He sees it edited by a definite set of
customs and institutions and ways of thinking. Even in his philosophical probings he cannot go behind these
stercotypes ([EIRERJHA) ; his very concepts of the true and the false will still have reference to his particular
trans\@hn Dewey has said in all seriousness that the part played by custom in shaping the b;];a‘V‘IOF of
the individual as over against any way in which he can affect traditional custom, is as the proportion of the total
vocabulary of his mother tongue over against those words of his own baby talk that are taken up into the language of
his famlly When one seriouslystudies social orders that have had the opportunity to develop independently, the
fi gurc (X FP LM ) becomes no more than an exact and matter-of-fact observation. The life e history of the individual
is first and foremost an adjustment to the patterns and standards traditionally handed down in his community. From
the moment of his birth the customs into which he is born shape his experience and behavior. By the time he can talk,
he is the little creature of his culture, and by the time he is grown and able to take part in its activities, its habits are
his habits, its beliefs his beliefs, its impossibilities his impossibilities. -

36. The author thinks the reason why custom has been ignored in the academic world is that .
A) custom reveals only the superficial nature of human behavior
B) the study of social orders can replace the study of custom

C) Reople are still not aware of the important role that custom plays in forming our world outlook
%uslom has little to do with our ways of thinking
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37. Which of the following is true according to John Dewey?
A) An individual can exercise very little influence on the cultural tradition into which he is born.
“BY Custom is the direct result of the philosophical probings of a group of people.
C) An individual is strongly influenced by the cultural tradition even before he is born,
D \@Custom represents the collective wisdom which benefits the individual.
38. The word “custom” in this passage most probably means
\A We concept of the true and the false of a society B) the independently developed social orders
Q). the adjustment of the individual to the new social environment
\Q\) the patterns and standards of hehavior of a community
9. According to the passage, a person’s life, form his birth to his death, ___
\Q is constantly shaping the cultural traditions of his people
B)Zs predominated by traditional custom »
C) is continually influenced by the habits of other communities

D) is chiefly influenced by the people around him
40. The author’s purpose in writing this passage is
A) to urge individuals to follow traditional customs
Bj to stress the strong influence of customs on an individual
to examine the interaction of man and social customs

D) to show man’s adjustment to traditional customs

Part III Vocabulary and Structure (20 minutes)
41. It has been estimated that the earth’s surface temperature has increased _____ one quarter to three quarters of a
degree since 1850.
A) to B) by C) at D) with
42. The lady dressed in the latest f/aris fashionis _____ in her appearance but rude in her speech.
A) elaborate B) excessive Cyelegant D) exaggerated
43. Many people think that the standards of public ______ have declined.
/:.) morality B) rightness C) awareness D) mentality- -
44, Iceland lies far north in the Atlantic, with its northern most tip actually the Arctic Circle, '
A) touched B) touches (:‘,) touching D) being touching
45. You need to rewrite this sentence because it is _ _; the readers will have difficulty in understanding it,
‘A) comprehensive, B) alternative . C) deliberate g) ambiguous
46, People were surprised to find that he had the abilityto _____ everything he was involved in.
A) precede Bydominate C) effect ) D) instruct
#7. Colin married my sister and I married his brother, makes Colin and me double inlaws.
A) what B) which C) that D) it
48. The problems requiring immediate solution will be given at the meeting,
A) priority B) urgency C) superiority D) emergency
49. A membership card authorizes _ the club’s facilities for a period of 12 months. ‘ "t
A) the holder using B) the holder’ s use C) the holder to use D) the holder uses
34. Duting the conference the speaker tried to his feelings concerning the urgency of a favorable decision,
A) comply B) impose C) imply D) convey
51. - I admit that there are problems, I don’t think that they cannot be solved.
A) Unless B) Until C) As D) While
52. The fact that they reacted so differently was a reflection of their different .
A) performances B) personalities 4\;)’i C) qualities [, »?:31]'1 D) appearances

11}
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53. Your excuse that an elephant fell on you and made you late is just

A) inevitable B) indispensable C) incredible D) incurable
54. Another big issue _ the new republic is the problem of the education of its citizens.
A) confining B) confirming C) conforming D) confronting

55. I tried to relax because I knew/I would use up my oxygen sooner
‘B) I got excited more

A) the more excited I got
D) and I got more excited

C) and more I got excited

56. Scientists first the idea of the atom bomb in the 1930s.

A) imagined B) conceived C) considered D) acknowledged.,
57. Cotton production has been the decline these years.

A) down B) on C) at D) under
58. The day before my history exam, I still hadn’ t reading the first book on the list.

A) seen about B) caught up with C) got round to D) sat for

59. He has pointed out the dangers _ in this type of nuclear power station.

A) interior B) inherent C) inside D) inner
60. Whenever I have an appointment, I like to arrive ______.
A) ahead of time a little C) a little ahead of time
B) a little time ahead D) ahead of a little time
61. Radar is used to extend the ___ of man’s senses for observing his environment, especially the sense of vision.
A) validity B) liability C) capability D) intensity )
62. The boy cycling in the street was knocked down by a minibus and received injuries.
A) fatal B) excessive C) disastrous D) exaggerated
63. If the ocean were free of ice, storm paths would move further north, _____ the plains of North America of
rainfall.
A) to deprive B) deprived C) depriving D) deprive
64. A window in the kitchen was ; there was rubbish every where, and the curtains and carpets had been stolen.
A) scattered B) scraped C) scratched D) smashed
65. The place is an ideal site for a university _____ it is far from the downtown area.
A) provided that B) now that C) so that D) in that
66. The most technological success in the twentieth century is probably the computer revolution,
A) prominent B) prosperous C) solemn D) prevalent
67. Whether their football team will win is a matter of _______ to me.
A) indifference B) discrimination C) deviation D) interests
68. He thought he could talk Mr. Robinson buying some expensive equipment.
A) on B) of C) round D) into
69. Today the public is much concerned about the way
A) nature is being ruined B) which nature is ruined
C). on which to ruin nature “* /D) of nature to be ruined
70. Though rich, he was better off than at any other period in his life.
A) by any means B) by some means C) by all means D) by no means {
Part IV Short Answer Questions (15 minutes)

The concept of personal choice in relation to health behaviors is an important one. An estimated 90 percent
of all illnesses may be preventable if individuals would make sound personal health choices based upon current medical
knowledge. We all enjoy our freedom of choice and do not like to see it restricted when it is within the legal and moral

boundaries of society. The structure of American society allows us to make almost all our own personal decisions that

12,
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may concern our health. If we so desire, we can smoke, drink excessively, refuse to wear seat belts, eat whatever foods
we want, and live a completely sedentary life-style without any exercise. The freedom to make such personal
decisions is a fundamental aspect of our society, although the wisdom of these decisions can be questioned. Personal
choices relative to health often cause a difficulty. As one example, a teenager may know the facts relative to smoking
cigarettes and health but may be pressured by friends into believing it is the socially accepted thing to do.

A multitude of factors both inherited and environmental, influence the development of health-related behav-
iors, and it is beyond the scope of this text/to discuss all these factors‘as they may affect any given individual.
However, the decision to adbo;n a particular health-related behavior is usually one of personal choice. There are
healthy choices and there are unhealthy choices. In discussing the morals of personal choice, Fries and Crapo drew a
comparison. They suggest that to knowingly give oneself over to a.behavior that has a statigtical probability of
shortening life is similar to attempting suicide. Thus, for those individuals who are interested in preserving both the
quality and quantity of life, personal health choices should reflect those behaviors that are associated with a statistical
probability of increased vitality and longevity.

71. Why is the concept of personal choice concerning heaith important?

72. What does “live a completely sedentary life-style” (Para 1. Line, 6) in the passage mean?

73. Why is it difficult to make sound personal health choice?

74. To knowingly allow oneself to pursue unhealthy habits is compared by Fries and Crapo to _____.
75. According to Fries and Crapo, what should sound health choices be based on?

Part V Writing (30 minutes) °

Directions: For this part, you are allowed thirty minutes to write a composition on the topic Is Money All Powerful?
You should write at least 120 words and you should base you composition on the outline below.

1. There are many things which money cannot buy. .

2. Money cannot make a happy day long, nor can it make the unhappy day short.

3. True love is another thimg which money cannot buy.

Is Money All Powerful?

13.
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Part | Listening Comprehension (20 minutes)

Section A

1. A) Their parents cut back loan.
B) The woman doesn’ t want Frank to take another English course.

C) They can’ t pay the rent this month. D) The woman’ s boss refused to give her a raise.
2. A) Ask Dr. Smith to alter his decision. C) Get the book directly from Dr. Smith.
B) Ask Dr. Smith to call the library. ’ I Get Dr. Smith’s written permission.
3. A) $120 5)$108 C) $90 D) $40
4. A) He feels unsympathetic. Q) He feels it’s unfair.
B) He feels it’s a pity. D) He feels glad.
5. A) Doing business. C) Buying cameras.
By Taking pictures. D) Making movies.
6. A) Looking for an apartment. C) Taking a suburban excursion.
B) Looking for a job. D) Asking the man for his opinions.
7. A) She’ It go to her uncle’s. C) She' 1l attend a meeting.
B) She has an appointment with her friend.
D) She’ Il have a visitor.
. A) He made a sudden turn. C) He tried to avoid hitting the truck.
B) He drove the bus over a bicycle. D) He was driving too fast.
9, A) He is curious. B) He is impatient. C) He is exhausted. s D) He is satisfied.
{0). A) She didn’ t know how to use the new one. B) She wanted her refrigerator to be fixed.
C) There is something wrong with the oven. D') There is something wrong with the food.
Section B

Passage One

Questions 11 to 13 are based on the passage you have just heard:

11. A) Because he led his teams to many championships. B) Because he set as many as 65 different records.
C) Because he still played the game after he retired.
D) Because he didn’ t stop playing even when he was seriously injured.

12. A) He lost the final chance to win a championship. 3) He was knocked out during one contest.
C) He broke a bone in the wrist during a match. {1 He was awarded with a $1.5 million house.

t Y. A) To break the prcvious records. R) To win one more championship for his team.
C) To buy a luxury house. i") To play against the New York team once again.

Passage Two
Questions 14 to 16 are based on the passage you have just heard:
i4. A) To enjoy a good story. ’ ) To experience an exciting life.
B) To see the actors and actresses. i2) To escape their everyday life.
15. A) They feel that everything on the screen is familiar to them,
B) They are touched by the life-stories of the actors and actresses.
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C* They try to turn their dreams into reality.
i1 They become so involved that they forget their own problems.
16. 4 Because they are well made and the stories are interesting,
fi ecause the heroes have to cope with many problems and frustrations,
C; Because the characters in the movies are free go do whatever they like.

2) Because good guys in the movies always win in the end.

Passage Three
Questions 17 to 20 are based on the passage you have just heard:
17. Aj Because the bottle was empty and useless. B) Because he wanted to lighten the load of his small plane.

') Because the bottle might be useful to the native Africans.

) Because he wanted to amuse the local tribes people.

i A) A message from the outside world. €'} A warning from the gods.
i*3 A symbol of misfortune. 13 A gift from the gods.
2 A} The local Africans are peace-loving people, H) Soda bottles are very precious in some remote areas.

CV A trivial thing may sometimes bring about undes:r :ie consequences.
Y Caution must be taken in introducing new techno:.: .
<0. A% They thought that the gods were all crazy. b . ihey were isolated from the outside world.
C) They enjoyed living in the peaceful desert, In They worshipped the gods all the more after the incident.

Part 11 Reading Comprehension (35 minutes)

Passage One
Questions 21 to 25 are based on the following passage:
More and more, the operations of our businesses, governments, and financial institutions are controlled by

information that exists only inside computer memories. Anyone clever enough to modify this information for his
Own purposes can reap substantial rewards. Even worse, a number of people who have done this and been caught at it
have managed to get away without punishment.

It s easy for computer crimes to go undetected if no one checks up on what the computer is doing. But even if
the crime is detected, the criminal may walk away not only unpunished but with a glowing recommendation from his
former employers.

Of course, we have no statistics on crimes that go undetected. But it’s disturbing to note how many of the crimes
we do know about were detected by accident, not l;y systematic inspections or other security procedures. The
computer criminals who have been caught may have been the victims of uncommonly bad luck.

For example, a certain keypunch (BEITFL ) operator complained of having to stay overtime to punch extra
cards. Investigation revealed that the extra cards she was being asked to punch were for dishonest transaction. In
another case, dissatisfied employees of the thief tipped off (fa---%f% ) the company that was being robbed.

Unlike other lawbreakers, who must leave the country, commit suicide, or go to jail, computer criminals
sometimes escape punishment, demanding not only that they not be charged but that they be given good recommen-
dations and perhaps other benefits. All téo often, their demands have been met.

Why? Because company executives are afraid of tlfﬂa\d/ﬂgwat would result if the public found out that
their computﬂad been misused. They hesitate at the thought of a crimjwal boasting in open court of how he Jugeled
(EFF) the most';;n\m records right under the noses of the company’s exccutives, accountants, and security
staff. And so another computer criminal departs with just the recommendations he needs to continue his crimes
elsewhere. .

21. It can be concluded from the passage that
A) it is still impossible to detect computer crimes today

15.
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B) computer crimes are the most serious problem in the operation of financial institutions
\Qjcomputer criminals can escape punishment because they can’ t be detected
D) people commit computer at the request of their company
22. It is implied in the third paragraph that
X) fnany more computer crimes go undetected than are discovered
B) the rapid increase of computer crimes is a troublesome problem
C) most computer criminals are smart enough to cover up their crimes
™) most computer criminals who are caught blame their bad luck
23. Which of the following is mentioned in the passage?
A) A strict law against computer crimes must be enforced.
B) Companies need to impose restrictions on confidential information.
) Companies will guard against computer crimes to protect their reputation.
D) Companies usually hesitate to uncover computer crimes.

24. What may happen to computer criminals once they are caught?

&) A) With a bad reputation they can hardly find another job.

¢

16.

“B) They will be denied access to confidential records.
C) They may walk away and easily find another job. BThey must leave the country or go to jail.
25. The passage is mainly about ____
hy computer crimes are difficult to detect by systematic inspections
By why computer criminals are often able to escape punishment
) how computer criminals manage to get good recommendations from their former employers

Dywhy computer crimes can’ t be eliminated )

Passage Two
Questions 26 to 30 are based on the following passage:
It is often claimed that nuclear energy is something we cannot do without. We live in a consumer society where

there is an enormous demand for commercial products of all kinds. Moreover, an increasc in industrial production is

considered to be one solution to the problem of mass unemployment. Such an increase presumes an abundant and

cheap energy supply. Many people believe that nuclear energy provides an 1nexhaustlble and economical source of

\~/\_,___/“-"

power ¢ and that it is therefore essennal for an mdusmally developing socwty There are a number of other advantages

in the use of nuclear energy. 4 uclcar power, except for acc1dems 1s/1ean A further advantage is that a nuclear

power station can be run and maintained bxrelatlvely few techmcal and admmlstranve staff. The nuclear reactor
w W

represents an enormous step in our scientific evolution and whatever the anti-nuclear group says, it is wrong to

expect a return to more primitive sources of fuel. However, opponents of nuclear energy point. qut that nuclear power

—_——

(Eurthermorg,\.it is questionable
- - . .

whether ultimately nuclear power isa cheap source of energy. There have, for example, been very costly accidents in

America, in Britain and, of course, in Russia. The possibility of increases in the cost of uranium (4fl) in addition to

the cost of greater safety provisions could price nuclear power out of the market. In the long run, environmentalists -
argue, nuclear energy wastes valuable resources and disturbs the ecology,) to an extent which could bring about the
destruction of the human race. Thus, if we wish to survive, we cannot afford nuclear energy. In spite of the case against
nuclear energy outlined above, nuclear energy programmes are expanding. Such an expansion assumes a continual
growth in industrial production and consumer demands. Ho;v;;e:_it is doubtful whether this growth will or can
continue, Having weighed up the arguments on both sides, it seems there are good economlc and ecologlcal reasons. for
sources of energy other than nuclear power. T
26. The writer’s attitude toward nuclear energy is

A) indifferent B) tolerant C) favorable D) negative
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